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// BAD

#include <iostream>
using namespace std;
#define N 100

double al[N] [N];
double b[N] [N];
double c[N] [N];
double result[N][N];

int main O{
for (int i=1;i<N;i++) {
for (int j=1;j<N;j++) {
alil[jl1=1.0;
b[i] [j1=1.0;
clil[j1=1.0;
}

for (int i=1;i<N;i++) {
for (int j=1;j<N;j++) {
double s=0.0;
for (int k=1;k<N;k++) {
for (int m=1;m<N;m++) {
s=s+al[i] [k]*b[k] [m]*c[m] [j];
}
}
result[i] [j]=s;
}
}
for (int i=1;i<N;i++) {
for (int j=1;j<N;j++) {
cout << result[i][jl<< "\n";
}

return O;
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// GOOD

#include <iostream>
using namespace std;
#define N 100

double al[N] [N];
double b[N] [N];
double c[N] [N];
double result[N] [N];
double tmp[N] [N];

int main O{
for (int i=1;i<N;i++) {
for (int j=1;j<N;j++) {
alil[jl=1.0;
b[i] [j1=1.0;
clil[j1=1.0;
}

for (int i=1;i<N;i++) {
for (int j=1;j<N;j++) {
double s=0.0;
for (int k=1;k<N;k++) {
s=s+ali] [k]*b[k] [j];
}
tmp [i] [j]=s;
}
}
for (int i=1;i<N;i++) {
for (int j=1;j<N;j++) {
double s=0.0;
for (int k=1;k<N;k++) {
s=s+tmp [i] [k]*c[k] [j];
}
result[i] [j]=s;
}

for (int i=1;i<N;i++) {
for (int j=1;j<N;j++) {
cout << result[i] [j1<<"\n";
}
}

return O;
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//bad
#include <iostream>
using namespace std;

#define N 20000000

int main (){
double s=1.0e8;
double small=1.0e0/((double) N);
for (int i=0;i<N;i++) {

s=s+small;

cout.precision(40);
cout << s <<"\n";

return O;
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//good
#include <iostream>
using namespace std;

#define N 20000000

int main (){
double s=1.0e8;
double s0=0.0;
double small=1.0e0/((double) N);
for (int i=0;i<N;i++) {
s0=g0+small;

s=s+s0;
cout.precision(40);
cout << s <<"\n";

return O;
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// bad

#include <iostream>
using namespace std;
#define N 200

int main (){
double s=1.0;
double rat=0.5;
for (int i=0;i<N;i++) {
s=s*rat;

cout.precision(40);

cout << s <<"\n";

cout << log(s)/log(2.0) <<"\n";
return O;
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//good
#include <iostream>
using namespace std;

#define N 20000

int main (){

double s=1.0;

double log_of_s=0.0;

double rat=0.5;

for (int i=0;i<N;i++) {

s=s*rat;

if ((i+1)%100==0) {
log_of_s=log_of_s+log(s);
s=1;

cout.precision(40);
cout << log_of_s/log(2.0) <<"\n";
return O;
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Notes

! hatsugai@pothos.t.u-tokyo.ac.jp,
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